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Time execution find algorthm sec.1,49998999894179E-02
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Time execution find algorthm sec.1,59999999887077E-02
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Time execution find algorthm sec.1,49999999994179E-02
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Time execution find algorthm sec.1,60000000032596E-02
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Time execution find algorithm sec.1,49999999994179E-02
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Time execution find algorthm sec.1,49999999999864E-02
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Time execution find algorthm sec.0,0150000000001
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Time execution find algorithm sec.1,60000000000764E-02
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Time execution find algorthm sec.0
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Time execution find algorthm sec.1,60000000000764E-02
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Time execution find algorthm sec.0
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Time execution find algorthm sec.0

| SO

%j

|




)

I__,

i

1
1




Knots solver - Haken Satellite_knot - Step 55 Found AZ-algorthm-move |

Time execution find algorthm sec.0
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Time execution find algorithm sec.0
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Time execution find algorthm sec.0
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Time execution find algorthm sec.0
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Time execution find algorthm sec.0
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